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1. The Internet is derived from what 1960s-era project?


(3 mks)

2. Explain one weakness of the linear bus topology.



(3 mks)
3. What happens if an external node in a star topology fails? 

(3 mks)

4. Draw a linear bus network with three nodes. 



(3 mks)

5. Give three examples of a “node” on a computer network.


(3 mks)
6. When would you need a repeater in a network using twisted pair cables?
(3 mks)

7. List characteristics to consider when choosing a cable type.

(3 mks)

8. Explain Carrier Sense Multiple Access with Collision Avoidance (CSMA/CA). 








(3 mks)

9. How does a token-passing network determine which node may transmit?(3 mks)

10. Terms:

a. A network spanning a small geographic area: ______ 


(1 mk)

b. NIC stands for: ______________ 





(1 mk)

c. CAT 5 stands for: _____________ 




(1 mk)
